SAP ABAP table PC2WCV {Cumulated Pension Rights}

PC2WCV-HANSP = PA0202-PERNR 0.:N

PA0203 .7
MANDT [CLNT (3)] pad
PERNR [NUMC (8)] 7
SUBTY [CHAR (4)] .7
OBJPS [CHAR (2)] .’

SPRPS [CHAR (1)]
ENDDA [DATS (8)] / -
BEGDA [DATS (8)]
SEQNR [NUMC (3)]| -7
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RN \PCZWCV—AANSP = TODWC-AANSP 6N
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N\ PC2WCV-WAERS = TCURC—WAERS\ \O N

PA0202

MANDT [CLNT (3)]

PERNR [NUMC (8)]

SUBTY [CHAR (4)]

OBJPS [CHAR (2)]

SPRPS [CHAR (1)]

ENDDA [DATS (8)]

BEGDA [DATS (8)]

SEQNR [NUMC (3)]

T512W

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

LGART [CHAR (4)]

ENDDA [DATS (8)]

T5DC3

MANDT [CLNT (3)]

AVFMA [CHAR (4)]

T5DCU

MANDT [CLNT (3)]

LTRGR [CHAR (4)]

ENDDA [DATS (8)]

TS5DWA

MANDT [CLNT (3)]

ANGRP [CHAR (4)]

ENDDA [DATS (8)]

T5DWC

MANDT [CLNT (3)]

ANGRP [CHAR (4)]

HANSP [CHAR (4)]

AANSP [CHAR (4)]

ENDDA [DATS (8)]

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]




